#### **KEYWORTH CRICKET CLUB - 1971 SEASON**

**President:** G P Witcomb Chairman: G C Ward

Vice Presidents: A Cust, A Ford, R Goulding, H G Gray, G Green, G Griffin, J Hartley,

A A Middleton, J Price, J Read, J Reeve, Dr M Russell,

Gen Sec: E J C Quinton Fixture Sec: N Colman Treasurer: A Copson 1st XI Captain: N Colman Vice Capt: A Copson Social Sec: M Creevy

Scorer: Mrs Aline Ward Umpires: S Armstrong & J Hartley

#### **Review of the Season:**

The Annual General Meeting took place at the Keyworth Village Hall on 9 March 1971. Cash in hand £138. 7s. 2d Subscriptions were raised to £1.50p. Match Tax 50p. Green was officially adopted as the Club Colour (Australian Fielding Cap Green).

Jeff Read was outstanding in the season, finishing with more than 50 wickets and deservedly picked up the Captain's special award at the Club's end of season Annual Dinner.

Nottinghamshire CCC player Basharat Hassan was the "Guest of Honour" and presented Wm Gunn Batting Trophy to Alan Copson and Bowling award to Michael Crispin. Umpire, Stan Armstrong received a silver tankard in gratitude for his long service with the club. Mr Arthur Ford, Chairman of the Keyworth Playing Fields Association was also a special guest.

All matches played in the season were friendlies.



KEYWORTH CRICKET CLUB

### annual dinner

-- ---

DRESS OPTIONAL £1-75 inclusive

#### HARBORO' HOTEL

Melton Mowbray

on Friday, 18th. February, 1972

7-30 for 8-00

COACH VILLAGE HALL CAR PARK 7-00 p.m.

#### 1st XI MATCH RESULTS included...

1" AI MATCH RESU	JL 15 inciu	aea		
01.05.71	KINGSTO	ON CAVALIERS	A	Lost by 6 wkts
22.05.71	WESTMINSTER BANK			Won by 2 wkts
25.05.71	RUDDINGTON			Won by 1 run
29.05.71	SUTTON	BONNINGTON	H	Won by 146 runs
05.06.71	PLUMTR	EE	Н	Lost by 3 runs
06.06.71	EAST BR	IDGFORD	A	Lost by 100 runs
12.06.71	GUNTHO	ORPE	Н	Won by 5 wkts
19.06.71	KINGSTO	ON CAVALIERS	Н	Lost by 4 wkts
24.06.71	EAST LE	AKE	A	Won by 21 runs
26.06.71	WHATTO	ON & ASLOCKTON	A	Won by 37 runs
03.07.71	EAST BR	EAST BRIDGFORD		Lost by 100 runs
10.07.71	OLD BRO	OLD BROCKHILLIANS		Lost by 8 runs
18.07.71	PLUMTR	EE	A	Won by 40 runs
20.07.71	RUDDIN	RUDDINGTON		?
24.07.71	OLDS		H	Won by 5 wkts
30.07.71	WHATTO	WHATTON & ASLOCKTON		Won by 37 runs
07.08.71	OLDS		Н	Won by 3 wkts
14.08.71	EAST LE	AKE	Н	?
21.08.71	HICKING	G PENTACOST	Н	Won by 3 runs
28.08.71	WESTMINSTER BANK		A	Match abandoned
04.09.71	LOWDHAM		A	Match abandoned
11.09.71	LOWDHAM		A	Won by 12 runs
SALAMAN CUP (Evening competition)				
1st round	28.05.71	SAXBY & STAPLEFORD	A	Won by 69 runs
2 <sup>nd</sup> rd	15.06.71		A	Won by 4 runs
Q/f	29.06.71	NOTTS FOREST	H	Lost by 9 wkts

**HIGHEST SCORE:** 167 KEYWORTH v SUTTON BONNINGTON (29.05.71) **LOWEST SCORE:** 36 KEYWORTH v BROCKHILLIANS (10.07.71)

#### 1971 SEASON continued...

1st XI BATTING Averages (qualification: 5 Completed Innings)								
		8 (1	Matches	Innings	Not Out	HS	Total Runs	Ave
A C	OPSON		22	21	2	66	328	17.26
J DE	EALLEI	₹	18	17	5	27	171	14.25
МС	REEVY	7	17	15	2	53	181	13.92
J RE	EAD		17	15	3	31*	133	11.08
	LDRE	Y	20	19	1	36	183	10.16
	RISPIN		14	11	0	25	102	9.27
	ILES		15	13	2	24*	91	8.27
	IUMBY	r	16	14	2	33	99	8.25
	AUNDI		16	15	1	33	109	7.79
	OLMA		17	15	0	18	102	6.80
	TONE	•	15	14	0	29	93	6.64
	C QUIN	TON	19	15	6	12*	55	6.11
	'ARD	1011	11	9	0	13	36	4.00
Also Batted	THE		11		V	13	30	4.00
Miso Datted			Matches	Innings	Not Out	HS	Total Runs	Ave
R S7	ГUBBS		1	1	0	32	32	32.00
	EED		5	4	3	11*	12	12.00
	OUSER	IAM	1	i	0	9	9	9.00
	AKER	17 1171	9	6	2	14*	34	8.50
	AULKN	IFR	3	3	0	3	5	1.67
	ACEY	LIC	4	3	1	2*	3	1.50
	HODGE	TT	1	1	0	1	1	1.00
	ACEY	211	2	2	0	2	2	1.00
	ALDRE	ïV	3	3	0	1	1	0.33
R CI		. 1	1	1	0	0	0	0.00
	AKER		1	0	0	0	0	0.00
	ATSON	J	1	0	0	0	0	
Best off the Bat		•	1	U	U	U	U	
Runs	···· Pla	ver		Onno	sition		Venue	Date
66		COPSON			BY & STAP	LEFORD	venue	25.05.71
53		CREEVY			MTREE	LLIOND		18.07.71
33	171	CKLLVI		v i Loi	VITICEE			10.07.71
<b>Best Batting Pa</b>	rtnersh	ins of the S	Season					
Dest Dutting I u	Runs	Partners .	3 <b>011</b>		Oppos	sition		Date
1st wkt	103		ON & J BA	LDREY		SY& STAP	LEFORD	28.05.71
2 <sup>nd</sup> wkt	35		ON & D W				LOCKTON	30.07.71
3 <sup>rd</sup> wkt	16							0105.71
4 <sup>th</sup> wkt	48					KINGSTON CAVALIERS SUTTON BONNINGTON		29.05.71
5 <sup>th</sup> wkt	29	J DEALLER & M REED				EAST LEAKE		24.06.71
6 <sup>th</sup> wkt	43		VY & J DE		OLDS			24.07.71
7 <sup>th</sup> wkt	30		S & J REAI			, ITREE		05.06.71
8 <sup>th</sup> wkt	28		S & M CRIS			TON & AS	26.06.71	
9 <sup>th</sup> wkt	14		JINTON &			TON & AS TMINSTER		22.05.71
10 <sup>th</sup> wkt	26		VY & D B			TREE	Dinn	18.07.71
10 WKt	20	WI CKEE	, т с р в	IXLI	1 LOW	IIKLL		10.0/./1
Looding "6" Hi	ttore of	the seesan						

## Leading "6" Hitters of the season... A COPSON

A COPSON	/
J BALDREY	5
M CRISPIN	5

#### 1971 SEASON continued...

#### 1st XI BOWLING Averages (qualification 8 wickets or 60 overs)

1 Al DOWLING Averages (quan	iication o wice	ters of on ove	13)		
	Overs	Maidens	Runs	Wkts	Ave
M CRISPIN	147	39	270	39	6.92
J READ	178.4	38	436	50	8.72
M MUMBY	46.1	4	170	17	10.00
J BALDREY	89	23	235	15	15.67
M CREEVY	48.4	1	225	12	18.75
Also bowled					
	Overs	Maidens	Runs	Wkts	Ave
M SAUNDERS	1.5	0	5	1	5.00
N COLMAN	3	0	14	2	7.00
M LACEY	1	0	7	1	7.00
R CUST	10	0	28	3	9.33
W LACEY	4	0	11	1	11.00
E WATSON	3	0	12	1	12.00
D WILES	7	0	25	2	12.50
E J C QUINTON	3	0	16	1	16.00
B STONE	2	0	16	1	16.00
A COPSON	11	1	55	3	18.33
G WARD	41	14	93	5	18.60
M REED	4	0	23	1	23.00
J DEALLER	11	0	91	2	45.50
G FAULKNER	5	0	14	0	
K J HODGETT	3	0	20	0	

#### Best with the Ball...

Runs	Player	Opposition	Date
6-28	J READ	LOWDHAM	11.09.71
6-29	M CRISPIN	HICKLING PENTECOST	21.08.71
6-34	M CRISPIN	WESTMINSTER BANK	28.08.71
5-19	J READ	OLD BROCKHILLIANS	10.07.71
5-26	M CRISPIN	PLUMTREE	18.07.71
5-27	J READ	WESTMINSTER BANK	22.05.71
5-27	J READ	PLUMTREE	18.07.71

1st XI CATCHING & STUMPING:						
	Catches	Stumpings				
N COLMAN	11	0				
D BAKER	6	2				
D WILES	6					
M CRISPIN	4					
J BALDREY	3					
A COPSON	3					
M CREEVY	3					
J DEALLER	3					
M SAUNDERS	3					
M MUMBY	2					
E J C QUINTON	2					
M REED	2					
D BALDREY	1					
J READ	1					
G WARD	1					

#### 1971 SEASON continued...

#### SINGLE WICKET Championship winner...A COPSON

# WIDMERPOOL 6-aside Competition 22 August 1971 at the Widmerpool Sports Club Keyworth lost in the first round against Kimberley. Keyworth Team